
1/29/2024                    

 

Martin Planter Attachments 

Martin Industries LLC 

206 Elk Fork Road 

Elkton, KY 42220 

Telephone: 270-265-5817 

E-Mail: martin@martintill.com 

www.martintill.com    

900441 

JD DB60 WEIGHT TRANSFER SYSTEM 

INSTALLATION INSTRUCTIONS 



1/29/2024                  2 

 

BEFORE INSTALLATION BEGINS EVALUTE POSSIBLE CLEARANCE ISSUES 

 

 

 

 

 

 

 

 

 

 

It is important to verify that you do not have any installed accessories that may cause an interference problem when the plant-

er is folded for transport. Mounting of liquid fertilizer tanks , air compressors, or other accessories along the center spine of the 

planter must be evaluated for interferences before and carefully confirmed after the initial installation upon the first time fold-

ing the planter. Every effort has been made to minimize the possibility of interferences, however any customizations or          

accessories mounted MUST be carefully evaluated by the installer to prevent the possibility of equipment damage. 

Seed hose riser brackets and hoses will need to be detached and pulled aside for installation of Weight Transfer System. Also if 

needed, hose tie down bracket will need to be removed  from frame. 

HOSE TIE DOWN BRACKET SEED HOSE RISER BRACKET 
SEED , HYDRALIC  

AND VACUMN HOSES 

 STEP 1 : DETACH EXISTING COMPONENTS 



1/29/2024                  3 

 

Seed hose riser bracket shown repositioned to the side. 

 STEP 2 : MOUNT TOP BRACKETS AND FRONT PLATES 
LEFT SIDE SHOWN: Place top bracket (850287) on top of frame top bar. Place front plate (850285) on the front of the bar as 

shown, aligning the tabs on the bracket with the slots on the front plate.  See reference locations below. Install the 3 , 5/8—11 x 

1 3/4 bolts through the 3 uppers holes in the front plate and the angles in the top bracket, install the 5/8 flange nuts finger tight 

to hold assembly in place for the remaining steps. Place top bracket (850291) on top of wing top bar. Place front plate (850289) 

on the front of the bar as shown, aligning the tabs on the bracket with the slots on the front plate.  See reference locations be-

low. Install the 5 , 5/8 nuts on the 5 studs of the top bracket, install the 5/8 flange nuts finger tight to hold assembly in place for 

the remaining steps.  

NOTE: This is an approximate distance provided for reference 

Front plate 

(850285) 

Top bracket 

(850287) 

Front plate 

(850289) 

Top bracket 

(850291) 

5/8—11 x 1 3/4  

GR8 Flange Bolt 



1/29/2024                  4 

 

STEP 3 : INSTALL THE EYE BOLTS  AND SPACERS 

With the top plate and front brackets in place, insert the Eye bolts from underneath the toolbar in-

serting them in the outermost holes in the top brackets. Start the 5/8 flange nuts on the Eye bolts to 

retain it in the hole, then place the cross 5/8-11 bolts through the Eye bolts and the lower holes of 

the front plates. Start the 5/8 flange nuts on the bolts to retain them in the holes. NOTE: 9 holes 

have  supplied in the  Wing bracket for alternate locations of Eye bolts. Install the two spacers 

(800821)  in holes provided between uprights using  5/8-11 X 5 1/2 bolts and nuts finger tight  to 

hold the assembly together for remaining steps.  

 

Snug all bracket bolts leaving spacer bolts finger tight. Lastly tighten all bracket bolts to 150 ft/lbs 

(dry). 

5/8-11 UNC x  8 

GR8 Flange Bolt 

EYE BOLT 

(850312) 5/8-11 UNC x  13 

GR8 Flange Bolt 

EYE BOLT 

(850313) 

5/8-11 UNC x  5 1/2 GR8 Flange Bolts 

and SPACERS 



1/29/2024                  5 

 

 

STEP 4 : ATTACH THE HYDRAULIC CYLINDERS  

Install the cylinders to the  bracket assemblies using the supplied clevis and cotter pins. The cylinder 

should be installed so that the hydraulic ports are facing up. The cylinder’s base end must be attached 

to the bracket of the center section of the planter for the WTS system to work properly . Install the 

brass breather vent (800192) on the Gland port (rod end) of the cylinder to allow venting of the gland 

side during operation.  Tighten spacer bolts to 150 ft/lbs (dry). 

FRONT OF PLANTER 

CYLINDER VENT 

PORT 

PLANTER RIGHT WING BRACKET 

AND CYLINDER INSTALLATION 

CYLINDER VENT 

PORT 

CYLINDER SUPPLY  

PORT LOCATION 

PLANTER LEFT WING BRACKET 

AND CYLINDER INSTALLATION 



1/29/2024                  6 

 

STEP 5 : INSTALL HOSE RISER BRACKET SPACERS  

Attach hose riser bracket spacers on hose riser brackets using 3/8-16 bolts and nuts. Reposition and 

mount hose riser brackets to wing top bar using u-bolts and nuts removed in step 1. Location shown 

below is for reference only. Every effort has been made to minimize the possibility of interferences, 

however any customizations or accessories mounted MUST be carefully evaluated by the installer to 

prevent  the possibility of equipment damage. It is up to the installer/owner to properly reroute and 

resecure the hoses according to the space available and the accessories installed on each particular 

planter.  

 

3/8-16 BOLTS AND 

NUTS 

HOSE RISER 

BRACKET 

SPACER 

U-BOLTS AND 

NUTS 



1/29/2024                  7 

 

Notes 



1/29/2024                  8 

 

 STEP 6: INSTALL GAUGE 

ITEM 3 

ITEM 7 

ITEM 6 

ITEM 10 
ITEM 8 

1. Mount the gauge as close to the hitch area as possible so It can be easily viewed while in operation.  It comes with a 

black bracket that can be bolted to the main frame on JD.  If your planter does not have this mounting location you 

will need to fabricate something to hold the gauge. 

2. When installing, make sure to place the shim as shown to prevent vibration. 



1/29/2024                  9 

 

STEP 7:  INSTALL 800369 HYDRAULIC VALVE 

(800428) BRACKET, HYD VALVE 

(800369) HYD VALVE 

BOLT, HEX 1/4-20 X 2 GR5 

NYLOCK, 1/4-20 

NOTE: VALVE CAN BE ROTATED 90 DEGREES ON THIS BRACKET 

DO NOT USE THE OREINTATION OF THE ELECTRICAL 

CONNECTOR TO DETERMINE PORTS 

RETURN TO TANK LOCATED 

HIGHER ON THE VALVE 

SUPPLY PSI/PRESSURE PORT LOCATED 

SLIGHTLY TOWARDS MID VALVE 

TO CYLINDERS AND GAUGE 

NOTE: CHECK TO MAKE SURE THE VALVE AND FITTINGS DO 

NOT EXTEND INTO AN AREA WHERE THEY MAY BE PINCHED. 

Your kit will be supplied containing a high quality hydraulic valve assembly.  Due to availability, the brand may be 

different from what is shown.  It is important to note the port positions and functions are the same on all Martin 

Till valves however the markings may vary.  The supplied valve may be mounted in any desired location but typi-

cally would be installed in the center of the planter to reduce hose lengths.  

Due to the unique nature of the installations on each planter the hoses are not supplied with this kit and it is up to 

the installer/owner to properly route and secure the hoses according to the space available and the accessories in-

stalled on each particular planter. The use of 5000 psi rated hose is strongly recommended.  



1/29/2024                  10 

 

OPTION 2: HYDRAULIC CONNECTIONS (See page 12) 

 

1. Connect to supply at Power Beyond.  This will provide for constant power.  Operator must remember to turn cab 
controller off while folding.  Also see 900440 Weight Transfer System Control instructions 

2. Connect to return at  Power Beyond.   Return to tank must be unobstructed 

 

WARNING:  

Wing VAC fan, not recommended. SCV must be either in continuous or float at all times.  Failure to use the correct 
settings will cause the system to build Max PSI while the planter is folded. 

OPTION 1: HYDRAULIC CONNECTIONS (Recommended) (See page 11) 

 

1. Hydraulic supply: Connect to “Frame Supply” prior to the CCS fan speed control. (Suggest using #8 JIC running 
tee). See instructions 900440 Weight Transfer System Control.  

2. Hydraulic return: Connect to “Frame Return”.  Suggested that you splice into the system after the oil cooler at 
the CCS fan.  It is important that return to tank path is completely unrestricted/unobstructed.  

 

WARNING: Do not use the motor case drain for return hydraulics, this routing will damage your seals. 

 

STEP 8:  HYDRUALIC CONNECTIONS 
There are two options for connection of the weight transfer system to your tractor.  When you want the system ac-

tive determines which of the two options will work best for your application.  Note: All hydraulic returns must be un-

obstructed. Due to the unique nature of the installations on each planter, the hoses are not supplied with this kit 

and it is up to the installer/owner to properly route and secure the hoses according to the space available and the 

accessories installed on each particular planter. The use of 5000 psi rated hose is strongly recommended. 

Option 1: (recommended)  

Weight transfer system is active while in plant mode only (Recommended). Frame pressure at the CCS fan turns on 

and off with the CCS fan on JD. CIH maintains pressure at the fan. Note: Do not connect the return to the motor case 

drain as this may cause seal damage. 

Option 2: (Only with Power Beyond) 

Attach the hydraulic supply and return to Power Beyond.  Also see 900440  Weight Transfer System Control instruc-

tions 



1/29/2024                  11 

 
O

P
TI

O
N

 1
 (

R
ec

o
m

m
en

d
ed

) 

D
o

 n
o

t 
re

tu
rn

 t
h

ru
 m

o
to

r 
ca

se
 d

ra
in

.  
Se

al
 d

am
ag

e
 w

ill
 o

cc
u

r!
 

OPTION 1 (Recommended) 

LE
FT

 W
IN

G
 W

TS
 C

YL
IN

D
ER

 
R

IG
H

T 
W

IN
G

 W
TS

 C
YL

IN
D

ER
 

G
A

U
G

E 
8

00
45

8
 

(8
00

36
9)

 H
YD

 V
A

LV
E 

 C
C

S 
FA

N
 

EX
IS

TI
N

G
 C

C
S 

FA
N

 

FR
A

M
E 

 R
ET

U
R

N
 

SP
EE

D
 

C
O

N
TR

O
L SP

EE
D

 C
O

N
T

R
O

L 
 

(B
A

C
K

 S
ID

E)
 

V
EN

T 
V

EN
T 

P
R

ES
SU

R
E 

P
O

R
T 

R
ET

U
R

N
  P

O
R

T 

FR
A

M
E 

  

SU
P

PL
Y 

#8
 J

IC
 R

U
N

N
IN

G
 T

EE
 

(S
U

G
G

ES
TE

D
) 

#8
 J

IC
 R

U
N

N
IN

G
 T

EE
 

(S
U

G
G

ES
TE

D
) 

 T
O

 C
YL

IN
D

ER
 A

N
D

 G
A

U
G

E 

C
O

N
N

EC
TI

O
N

 A
FT

ER
 

O
IL

 C
O

O
LE

R
 

#8
 J

IC
 R

U
N

N
IN

G
 T

EE
 (

SU
G

G
ES

TE
D

) 
EX

IS
TI

N
G

 C
C

S 
FA

N
 



1/29/2024                  12 

 

D
o

 n
o

t 
re

tu
rn

 t
h

ru
 m

o
to

r 
ca

se
 d

ra
in

.  
Se

al
 d

am
ag

e
 w

ill
 o

cc
u

r!
 

P
O

W
ER

 B
EY

O
N

D
 R

ET
U

R
N

   

V
EN

T 
V

EN
T 

P
R

ES
SU

R
E 

TO
 C

YL
IN

D
ER

S 
\G

A
U

G
E 

R
IG

H
T 

W
IN

G
 W

TS
 C

YL
IN

D
ER

 
LE

FT
 W

IN
G

 W
TS

 C
YL

IN
D

ER
 

G
A

U
G

E 
80

04
58

 

R
et

u
rn

 t
o

 t
an

k 
m

u
st

 b
e 

u
n

o
b

st
ru

ct
ed

 .
 

O
P

TI
O

N
 2

  
OPTION 2  

P
O

W
ER

 B
EY

O
N

D
 S

U
P

P
LY

  

O
P

TI
O

N
 2

: H
Y

D
R

A
U

LI
C

 C
O

N
N

EC
TI

O
N

S 
 

1.
 

C
o

n
n

ec
t 

to
 s

u
p

p
ly

 a
t 

P
o

w
er

 B
ey

o
n

d
.  

Th
is

 w
ill

 p
ro

vi
d

e 
fo

r 
co

n
st

an
t 

p
o

w
er

.  
O

p
er

at
o

r 
m

u
st

 r
em

e
m

b
er

 t
o

 t
u

rn
 

ca
b

 c
o

n
tr

o
lle

r 
o

ff
 w

h
ile

 f
o

ld
in

g.
  A

ls
o

 s
ee

 9
0

04
4

0 
W

ei
gh

t 
Tr

an
sf

er
 S

ys
te

m
 C

o
n

tr
o

l i
n

st
ru

cti
o

n
s 

2.
 

C
o

n
n

ec
t 

to
 r

et
u

rn
 a

t 
 P

o
w

er
 B

ey
o

n
d

.  
 R

et
u

rn
 t

o
 t

an
k 

m
u

st
 b

e 
u

n
o

b
st

ru
ct

ed
 

W
A

R
N

IN
G

: 
 

W
in

g 
V

A
C

 f
an

, n
o

t 
re

co
m

m
en

d
ed

. S
C

V
 m

u
st

 b
e

 e
it

h
e

r 
in

 
co

n
ti

n
u

o
u

s 
o

r 
fl

o
a

t 
at

 a
ll 

ti
m

es
.  

Fa
ilu

re
 t

o
 u

se
 t

h
e 

co
rr

ec
t 

se
tti

n
gs

 w
ill

 c
a

u
se

 t
h

e 
sy

st
em

 t
o

 b
u

ild
 M

ax
 P

SI
 w

h
ile

 t
h

e 
p

la
n

te
r 

is
 f

o
ld

ed
. 



1/29/2024                  13 

 

Notes 



1/29/2024                  14 

 



1/29/2024                  15 

 



1/29/2024                  16 

 



1/29/2024                  17 

 



1/29/2024                  18 

 

NOTES: 



1/29/2024                  19 

 

NOTES: 



1/29/2024                  20 

 

The most trusted name in no-till 

Established 1991 

 

 

Martin Industries LLC 

206 Elk Fork Road 

Elkton, KY 42220 

Telephone: 270-265-5817 

E-Mail: martin@martintill.com 


